DUNCAN EXPORT MODEL EA 1229-6T

&

FERCERRNRPYNNEBSEIRREE

epupprpp g

EEEER AN ESRBRBRBRESS BRI ESEISORPEBEENR

F PART
NO. DESCRIPTION

KC 088
KE G0
KP 304
KC 009
KB 004
KB C24
KB 044
KB 014
KB 054
xC oa?
KP J14
KC 088
KA 114
KC 050
KC 220
KC 21
KE 045
KC 222
KE 341
KA G0
KP4
XP 2%
KE 301
KE 008
KE 108
KC 328
KE 304
KE 302
KC 008
KM AR
KM 318
KM 208
KE 203
KE 271
OR

XE 272
KE 110
KM 300
i 262

KC 378
KC 182
KT 138
KC 179
XC 178
KC 108
KC 401
KC 101
KC 168
KM 320
K 282
KC 150
KC 153

BODY PARTS

EA 1229 STAND WFEET
STAND FEET

1Z28 BASE PLATE

1229 FIBER BOTTOM
1228 GROOVED BRCK
1229 PEEPHOLE BRICK
1229 HALF BRICK

1229 TERMINAL BRICK
1229 IOLN SITTER BRICK
EA 1228 LOWER CASE WACLAMPE
1/4* THICK FIBER GASKET (1229)
EA 1229 UPPER CASE W/CLAMPS
1229 MALF SHELF

1228 FIBER UD W/BAND

1220 RIGHT MINGE ASSEMBLY
1229 LEFT HINGE ASSEMBLY
CASE CLAMP

HINGE PIVOT KIT

1/8° STANDOFF

1229 HEAT SHIELD

28 X 1/2* SHEET METAL SCREW
HANDLE

1220 UD CHAIN

UD MOUNTING PLATE KIT
#8-32 X 3/4* MACHINE SCREW
#8 X 1* SHEET METAL SCREW
EA 1220 CONTROL PANEL SHELL
PAL NUT

SWITCH KNOB-EA KILNS

EA KILN-SITTER W/TIMER (240V)
#8 X 1/2° SHEET METAL SCREW
1229 TOP OR BOTTOM BANK ELEMENT (240Y)

1229 MIDDLE BANK ELEMENT [240V)
LD LATCH

INFINITE SWITCH W/PAL NUT (240V)
CAPACITOR ASSM. ¢2

POWER RELAY (240V)
TERMINAL BLOCK ASSEMELY

3 POSITION SWITCH
CONTROL RELAY (240V)

CORD STRAIN REUEF

4800 REPEAT CYCLE TIMER (240V)
4300 FIXED INTERVAL TIMER [240V)
UD VENT PLUG
STANDARD BUSS BAR ASSEMBLY
U-TERMINAL ASSEMBLY

#6-32 X 1722 MACHINE SCREW

#8 STAR WASHER

#6-32 HEX NUT

INSULATOR

#8-32 X 1-1/4" MACHINE SCREW
#8-32 HEX NUT W/WASHER

#10-32 X 1/2° TAMPERPROOF SCREW
#10 STAR WASHER

#10-32 HEX NUT @
9 (23CM) CONNECTING WIRE, 12 GAUGE
EA PILOT UGHT

& (15CM) CONNECTING WIRE, 18 GAUGE
& (15CM) CONNECTING WIRE, 12 GAUGE
10* 5CM) CONNECTING WIRE, 12 GAUGE
22,4, WIRE COMBO, 18 GAUGE

12,8 WIRE COMBO, 18 GAUGE

22 (S6CM) CONNECTING WIRE, 18 GAUGE
@ (23CM) CONNECTING WIRE, 16 GAUGE
8° (15CM) CONNECTING WIRE, 12 GAUGE
14° PSCM) CONNECTING WIRE, 12 GAUGE
16° (40CM) CONNECTING WIRE, 12 GAUGE
& (15CM) CONNECTING WIRE, 12 GAUGE
14,9 WIRE COMBO, 16 GAUGE

12* (40CM) CONNECTING WIRE, 16 GAUGE
4,4 WIRE COMBO, 18 GAUGE

8 (15CM) CONNECTING WIRE, 168 GAUGE

DUNCAN CERAMICS
P.0. BOX 7600
9' CONNECTING WIRE, 12 GAUGE FRESNO, CA. 83747

ORDER PARTS FROM YOUR AUTHORIZED DUNCAN CERAMICS DISTRIBUTOR




